
Combining All Methods of Factoring 
(Cheat Sheet) 

 
1. Factor out the GCF.       4x2 – 2x 
        = 2x ( 2x – 1) 
 
2. Look for DOTS (binomial) pattern:      a2 – b2  

= (a + b) (a – b) 
       
 
3. If a trinomial:   
 Is it a Perfect Square Trinomial?   4x2 + 12x + 9 
        = (2x + 3)2 

 
Is the leading coefficient 1? 

   Yes –   fast way      x2 + 9x – 10 
            = ( x + 10) (x – 1) 
 
   No –   Grouping  5x2 – 7x + 2 
        = 5x2 – 5x – 2x +2 
        = 5x (x – 1) – 2 (x – 1) 
        = (5x – 2) (x – 1) 
 

Throw Away   5x2 – 7x + 2 
        = (5x – 5) (5x – 2) 
        = (x – 1) (5x – 2) 
 

or Guess and Check  5x2 – 7x + 2 
        = (x – 1) (5x – 2) 
 
4. Make sure that each (factor) is prime. (It won’t break down any farther) 
  
 3x (2x + 7) (3x – 6) 
       Not prime b/c you 
       can factor out a 3 
 = 3 * 3x (2x + 7) (x – 2) 
 = 9x (2x + 7) (x – 2) 
 
Factor Completely. 
 
1. 3x3 – 12x   2. 5m3 - 45m   3. 3x2 + 6x – 45 
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